74 % /{ﬂfW M@UKH@
\hose o Mmf s =

=

1/5— '#1/ A,C/MA)L 7( Ad4

it FM,ZK‘% bl el WL

%)W?gc e Aetuea.

e = Vg /KZ/ e z--z;/) o 4 m,)/z—?zv/)
' ok

; o — - +

one e chvete V) Vi)

c_/?fr- Rz,

al ai o /M //f%) Sempes, = W Fe

a
itk s \/[TZ):O/:/:;?-‘L:?’/M@%@, =
Lo s Pl v LEC. O W}mﬁ

4 / © g
) = VﬁW)H v’?xoﬂ(:z—ng _
‘% - FW%JM $OC - A W/’f&ﬁb

N

Q‘W/Vb\, ﬁ' % Au CZQZEELﬁ? ?CM-»% Za
AA,&Z ;.4? /m,ui/ 1/5/{1)) =0

m—

(e

5t 1//7¢ ) sl J el e

ZAC/% /2{ =)

%)

e 1o /KZ’M il ,J/Zu,u

5P hl z_”éW -‘1’/‘}

2 :///V () 7/,,,,/’*

=5l ]







s g3 -
e - S o mad X
v 225 e

WWQ/'Z:% s% e o«ﬁz;mﬁﬂw rZ Gtasd

A /WASZ ad—

/"_,2 127:‘ _sz" Foiis

,,f,,,f,,,..Q. = P e

;,-2% e M /ZzZL _,2 >’<‘ %maé

dx

Z4

f:/x L T pome aanéz%?pﬁé@u p% x

IX Pli= /2 ‘;,;,:,f;/ 745‘5%) = e Y-id J] L
e Sl L 4 g = /L d%/f >




7 _ . S B o
cz,_j_ = I chux +/1,P_7
£ 2

B ‘\fg_?z?ﬁw
B A Ay ) : 2 A 2= + . A !
— Q% e = / _f)mlduzx = +Lm@[%P—§%/
2mpbee /— -
AT % =
S e T P +/«.ca/;x};>77
e gt L - 27 - -~
- H - L= = M =
&,Mw%a e o ad
o G A
4 a4, = H =+
o 2 ’Z,_C-J 2
Fa\ —
A
’:{7 /L/: 7‘7—(4_)/(/(,&‘ +/7:Z/'w/ﬂé\£i—_i7
L7 g & &

%
>
3

v

- B ( Ao 2 Aot 0k
% 7AN . B

L(/ 2 c,/,:m,f L Aﬁ’g/‘{, /:/\Y; e FE fEC’)C)




—

7_1/ Y e

N

-1+ a,a

)

A
a.
£

.
N

+. 8

e |

e

a

o
=
a._

P
—

i‘cd/ﬁ

=
R

LR
PR e
| | 6
1 N N
> T3
¢ ] it
) wIE
A 8 , |
LR
3 ,/w;, | |
| Y |
{ c,;‘ N v
w,w_ (
—n A .2
3 A W ”
Molsd | 3|
A NT -
. el | RN D
t EAIES
— L YRl
L} /wﬁ Q'
@ 1ed N b
¥
it bt ey




Serg A y‘:L/)g) =0
£ [ # d %MC{J%F]?Z[?C) o
(Zmtw'l  dx -
2 JUBE)_ —mex i)
Ax £ i
T (d}ﬁ  —mw [ dx
o / - £ 7
= Fx)= Ae **
-' st A= [rmes)”
7/ &

Al }f/\}f[x) = ﬁcdfé\.c{ + 1 [ ¥ ()

= T %(’)ﬁ)

ﬁfa:fw;WMmW,

Vi = A (o) 7 () | w=iss .

7
H\fi [ E \TV() u/Zﬂﬂub FHT’(VI*{‘)*“’




cnileid alit of te HO potadtil.

\qu[%) (W‘?O) éc/;j’;z, calliol H#o n™
o=

’MS/, M a,éé Z Zl.o:»ém Mmj

;}AAWZ %/ﬁ,‘ L Mﬁﬂ{ ()/7; /lﬁ/x:"’/ )JVL'V:

"""" ha) “-ZJ +1
o= A.aq ¥ ¥ = 4 4t
e ? o ) ¥ P
E :D ) o - A‘h+: (Q-l'%} T @
A,

%o o
— fta‘_é\_’_yjcfx:(h—f-)f/%/ojx
= fm] (;%T)./%_o/% = [t f e el
- @
—17 Udg Es?/, @ "Z%QZ
= 7 g @\/ @ _
\l A;M !{’Z I[V/nh }ic/% ;_[;Miz[ b e
- W n=0 =0 | A [ = :
Ao /




ne2 =3/ (_6_2;)-_1 =
A

’:V ﬂ?_::. I/E

\/im ?24/1.1 e 27,97/; A., ik ’/"ﬂ?T

L [x)= Qs 7[1(1/)

zY

- ) = (n#1) 3. ¥ (2.

b (22 = 1 _a ¥t fris
Jn’
7—4,0/ MZL %Z )i S ,ZL, YoM~ &%@Ww‘uﬂ/(
=/ f ‘/::[7() Vo) dx = J;
=80 :

=

F/;;I/LQ_// EQM%Q@M@%@_
Gl 2

’f =t




